#
» 8o « «
#» »9  (Qaasi experiaenfcal design) T « » »
»
Qo
| « «Sa (inclusion criteria3)
1. » 1 # ## ! » # «
ooy oy Im « » # »l H#« »
a « # 3 « 4 (Diagnostic and Statistic-Manual of Mental
disorder  DSM-m
2. 1B » » *»»  #» (antipsychotic drugs)
# # » (extrapyraaidal side effects »
? (parkinsonis») » (aoderate degree)
«Bu« a «B 3 Webster rating scale
11
3 8 «#  # « » » (haloperidal) »
# # o v i #y  of »
(therapeutic level) »# » #» . # » »

» #» (appropriate and optiaal treatment)
4, W # HH# »
5. I o % # #e #
6. » » #1545 3
!

. # » MY e



»  »aa » (exclusion criterias)
L » IT0 » ! »
» 8 » o« oy 8 8
« }?» (half life) 8 « » »
2. } « 8 »8 « » 8 »
« 8 «» } 8 * [18 ! »18 8 »
8 »
ok » »ad (course) 8
»a »» 12 « 8 18 »» 20 « «8
»ne  2-3 » » » & «
» »
» « « « aa »
3 « }?7» a »a | » &y oy ««88
B1L » 8 - « aa »
3. 3 » » »
4, 3 » (general anaesthesia)

« a  (sample size)

€ € KK » ( ) pilot Study » 8  »
(»ean)
» » » a «« »Un
« 8 » « 8 ™7
» = ( lp + > spa
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Z00= Zihsvwwnn "* ' D8 » »
type | error 1.64 ( one- tail)

pa= oz » ) I»arh » A
type I error 1.28

sp2 = pool variance

(L1) 1+ ( £1) £

Mia Y/ A £

D &= » » 8

I# »» » ! » (pilot study) prospective

!) » » » 5 » &» » »»
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8 ™ ! T»

tmn au ECT wai ECT
1 9.00 3.00
2 6.75 6.50
3 10.00 7.50
4 11.00 7.70
5 15.50 8.50
taaa 10.85 6.64

2.88 2.15

« HB 8§ 8 ECT 421

<

17.72

(2.88>a + (2.15)
Sp = 6.45

(184 +1.28 )* X 6.4 54,50
17.72 17.72

3.08 3
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B » » T clinical trial

» « » ( efficiency )

« « » « »
» » « 9 » »»
« « « » o« »

accidental sampling

»

»

«

«

«»

« »

» »

« oy » » o
I« » ! » «
») « oy oy »
«  Webster Rating Scale « o« K
« « 2 « » »» oy 1 «
« » * » » »
» 1] » o« («easure of agreement)
» «»y» correlation coefficient <r)
« (82)
<HSW'-HS, 11)/2
[=

(MR0.* SSr--)"2 + < <SSofa- NB-An)/20 +MS)/Z

« M »K ««K
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'l one-way ANOVA

Degree of freedom
Source of variation  (df)

between patients »-|
between observers -1
Error (1-1) (n-1)
Total -1
» = no. of observers

= no. of patients

» 0f sgares

(s5)

S

SSE

ST

Mean squares
(MS=ss/df)

mBae

RBE28H8EY

= » of square of Bethods (observers)

» of square of subjects (patients)
» of square of error
Total » of squares
Mean square of Bethods (observers)
Mean square of subjects(patients)
Mean square of error
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Strength of agreenent

< 0 poor

0-0.20 = slight
r.21-0.40 = fair
0.40-0.60 = 1 oderate
0.61-0.80 = substantial

0.80-1.0 almost perfect

88 « if Webster Rating Scale |«
& « 18
Observer
Subject Mean
8(X> (Y)

1 11 il 11
2 12 12 12
3 12 11 115
4 11 11 11
5 10 10 10
0 9 10 9.5
! 13 13 13
8 12 12 12
0 |7 11



»  («B)
obsever
Subject Mean
a(X) % 8 (Y)

10 9 9 9
11 8 1 1.5
12 12 13 12,
13 % 12 12
14 1 1 1
15 11 11 11
16 12 12 12
17 1 11 1
18 9 9 9
19 10 9 9.5
2 12 11 1
Mea» 10.7 10.6 10.65

Subject 1-20 = SIhs'lIfWlimmun 1-20
X 8
Y n
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« Correlation coefficient (r)

Sourse of variation XY

df SS Vb

hetveeb observers 1 0.05 0.05

between patients 19 1001 527
Error 19 2.9  0.155
Total 39 1031

<M [ >

(MSMPAWS £t)12 + < <5, 1.-MS.,.1)/20 +MSTI)/2
(5.27-0.155 /2
(5.27-0.155>/2 M (0.05-0.155)/20 + 0.155 >/2

2.58
_____________ = (097 R



r« « ! »  Webster Rating Scale
8 8 (agreement) « » o« I
0.97 «8 C» I 8 »8 «
ana «
Webster Rating Scale ! »
(degree of disability) »  » »
« » David D. Websterc® 17 »» "if 10 »
la » 88 Iy 4 »0 » »8
1 «a»a B§ 2 »8»8 « 3 «B»»
« a 101a » a » » »(disability)
€ €KL » 1-10 » »» » 8 (Bild)
11-20  » a (foderate)
2130 »  » oy (severe)
€ ! € » oy l«<a 8 tnaua
8 « a » a. «a« ebster
« » » oy » 1« » !
»
A «« 8 » Oy« » « «  DSM-IV
» ¥y« » I'» * (inclusion criterias) « aa
¥ (exclusion criterias) » » |
Webster Rating Scale wmhy 2 B » 8
« » oy * oy »K » » * oy » »
« » oy oy » » *h »
* oy 1 » oy 1 €« «

) » » » » » » » »



tunau
1. »an nr
»8 8
2. «
3. «8
» oy« »
»» BV
na »
« oy »8 8
» « o«

Webster Rating Scale

« » »3
Rating Scale aan
« » »
Spss/p
1. » ?
1.1
8 » K » 8
X
[»» T
« o’y ECT «« X2
-

1%~
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ITU
0a
» «

{(

3

«

c+ «

»

«

« » »

«*

»  »K»

»8

9Ny

»a 'I'[

)

» € »

» » «

»

» «

«a «

«8 3 8w » » »d »

»

8

»»

« 8 »8 Webster

« 8

« «

« »8 »

»3 » «§ »

»8 « » »3 8

»

» (o !

ECT )

«
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1.2 » oo« 8  «llr B«
1
/ N R
SD = f
J o w
b» D« » » w8
Ha«  ECT 1 « D ECT
X1 9 ( » )
X « !l »
®(X1-X)a 118 »
8 « !
2. » 938
I » e » 2 «
ECT » |
D
t EUNERUEN S
D
t « t-test » « » M«
D«

SD « » o« «

P <« » N K » «K

»

118

SD1

1
» N

»
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(D, -D)

Tsa SD

n-1

SD

wing » 18BflI1Th»»U« o » » 0c=  0.05
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